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QUESTION 1

Which statement is true regarding the compress engine? 

A. Data automatically gets compressed. 

B. Columns to be compressed must be defined. 

C. The nzcompress utility must be run to compress the table. 

D. The nzcompress utility must be run to compress thedatabase. 

Correct Answer: A 

 

QUESTION 2

What function can nzbackup perform? 

A. Back up pg.log files. 

B. Back up TEMP tables. 

C. Back up host data (catalog metadata). 

D. Back up the data using the specified number of streams. 

Correct Answer: D 

 

QUESTION 3

What is the maximum number of columns that can participate in a distribution key? 

A. One 

B. Four 

C. Unlimited 

D. Depends on the number of columns of integer datatype. 

Correct Answer: B 

 

QUESTION 4

Which High-Availability (HA) mechanism is used by the PureData System for Analytics Appliance? 

A. AIX-HA 

B. Linux-HA 
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C. SuSE-HA 

D. Solaris-HA 

Correct Answer: B 

 

QUESTION 5

In a UNIX 64bit environment, a 64bit application requires which software to execute SQL statements via ODBC?
(Choose two.) 

A. nzsql 

B. An ODBC driver manager. 

C. The system does not support 64 bit ODBC. 

D. A 64-bit ODBC driverfor the same UNIX environment. 

E. A 32-bit ODBC driver for the same UNIX environment. 

Correct Answer: BD 
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